Here we will find the current through the 7 kΩ resistor using current division.
This circuit’s 10 mA source current is divided into 2 branch currents.

The two branch currents can be labeled i1 and i2.

I2 is divided by two parallel branches.

If we can find i2, we can use current division to solve i since the two branches are in parallel.

So we want to find i2 at this point.

We can find i2 by combining the four right resistors into an equivalent resistance.

That resistance will be in parallel with the 2 kΩ resistor, and we could use a current divider at that point.

First notice that the 3 and 7 kΩ resistors are in series because the same current flows through them.

Add their resistances to get an equivalent 10 kΩ resistor.

Now redraw the circuit.

The two 10 kΩ resistors are in parallel because they share the same pair of nodes.

Combine them by adding their reciprocals and taking the reciprocal of that sum.

This gives a 5kΩ equivalent resistance.

The 3 and 5 kΩ resistors are in series, because they have a common current.

Add them together to get an equivalent resistor of 3 + 5 = 8 kΩ.

This combination will not change the current, i2.

The 2 and 8 kΩ resistors are in parallel, so we have a current divider.

The 10 mA current is divided between the two.

I2 will be the total current through the branches multiplied by the ratio between the other branch’s resistance – 2kΩ – divided by the sum of the two resistors.
This gives i2 = 2 mA.

Next we will solve for i.

Apply the current divider here again.

The total current through the resistors is 2 mA.

The numerator is the resistance of the other branch, or 10 kΩ.

Divide that by the total resistance.

This gives a current of 1 mA.

So we applied current division twice to find the final current, i.
